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Topic:- Child Development & Pedagogy (CDP)

1) Claustrophobia is a fear of enclosed places. It is an example of : / Wﬁﬁtﬁﬁm AT RITHT BT Udh
X 21 TP U 3SIE0T 2:

1. Global Developmental delay / af%?ﬁ ICCARR: KKl

2. Obsessive-Compulsive Disorder/ S-SRI fdbR
3. Anxiety disorder / a4 fd®dR

4. Autism / 3ffesH

Correct Answer :-
« Anxiety disorder / dTd fdR

2) In “heuristics,” the child is free to go for any kind of possible rules or ideas to reach the solution.

This rule is called as:/ “WE['J-I'Iﬁ? MY Yomett” ﬁ,aﬁwwwu@aﬁ%ﬁﬁmmm%m
e 3ryar faeR 9 gerdr @ 9d 8, 59 F1a| o) 1 S8 ST 82

1. rule of thumb/ &Iﬂlﬁﬁ@ﬁmﬂ =d 3 Yid)
2. differentiated rule/ faAfad fam

3. mimicking rule/ 3{JH0 e

4. cognitive rule/ I3HTES fAaw

Correct Answer :-

« rule of thumb/ FHIRIG AU (=d 3% )

3) Which is not the step of scientific method? /

frr=afafad # @ Si9-91 agT=re gommelt &1 =R T8 82



1. Experiment / AT
2. Interview / HI&TH R

3. Prediction / G@id™
4. Observation / 3{@dlH

Correct Answer :-

o Interview / HI&Th TR

4) According Jean Piaget, children develop abstract logic and reasoning skill during ./
i fimel & SR, & GRH 91 # 3Rfd ad SR ad oIz [aeRid gl 31

1. Concrete operational stage / IETW AR

2. Formal operational stage / fIoaTRe WihaTdd Srawul

3. Preoperational stage / gd-Sfoharads Siat

4. Sensorimotor stage / Tadl IReb yTGIHICY( SATRIT

Correct Answer :-

« Formal operational stage / =T Aforaratd sraw

5) A self - directed learning process is arguably the most powerful model for facilitating and inspiring individual,
group and organizational learning and development. It means learners ___ /

e W-FeRa St uftran, safeara, argfee iR wre-Tars ity ok fawra Y gfaurag
. ¥3g 9 wfqaeeh Aisd 81 59PT Addq ¢ & siftrmeal |

1. take responsibility for learning and become goal oriented / ST Pt ForHERT A % 3R HW §-dl
gl

2. compete with others / §FR-|' & 1Y gfaegef Sl % |
3. achieve the best scores / 33T URUITH UTtd HdTl %l
4. enjoy learning / 3{ERTH &1 S AR

Correct Answer :-

« take responsibility for learning and become goal oriented / ST &} ARt AT § iR F’TW §-dl

6) In which stage of psychosocial development does the child feel shame and doubt? / HIAFIA®
faer F frd @R A s @) o ok Tdg WegH giar 82



1. Preschool / Eﬂw
2. Adolescent / [P TRTaRAT

3. School age / ¥l 3G
4. Early childhood / =Tl STc bl

Correct Answer :-

 Preschool / Eﬂw

7) Proper sex education should be rendered at stage. / Sfra a1 fRren AT
U &1 S 91fgel|

1. Childhood / dTcdhTed
2. Adolescence / TP RIRTGRIT
3. Adulthood / dYIh

4. Barly childhood / URTH® STeddhTd

Correct Answer :-

« Adolescence / foreIRTERT

8) The ‘Hypothesis of Critical period’ was proposed by ./ agayuf 3afd Ht uReeur
& GRT yRaTfad &t 18 A

1. Helen KeIIer/%ﬁqW

2. Noam Chomsky/qvma'\lﬁ:\‘aﬁ

3. Bloomfield/ A Iead
4. Eric Lenneberg/ Q|§$ NECL]

Correct Answer :-

e Eric Lenneberg/ Q|§$ NECL]

9) Who is credited with the concept of Intelligence Quotient (1Q)? / ﬁﬁ'@l (IQ)

P AYRUN FT 99 fry fear wmar 82
1. Theodore Simon / RIS HIgHA
2. Spearman / TR



3. Alfred Binet / 3Hhs foq
4. William Stern / faferag we

Correct Answer :-

. William Stern / faferag e+

10) According to Piaget, intellectual growth occurs through adaptation to the world. This happens

gg_)rugh:/W%W,WWW$W%mmﬁm%|wm%mmﬁ

82

1. Absorption and Accommodation / S[TYNTT 3R FHS (Qaﬁﬂém‘ﬂ
2. Acquisition and Autocorrelation / JuTfey 3R a: REREL

3. Assimilation and Accommodation / 3TEHTEHRUT 3R FHO (THIHSTH)

4. Assimilation and Acclimatisation / STETITEHRUT 3R Wﬂ

Correct Answer :-

« Assimilation and Accommodation / STEHTTE U 3R JHSH (Qﬁﬁ@‘-?l:l)

11) According to Albert Bandura, the process that is involved in acquisition, organization and use of
information is called process. / 3T TG & SR, dg wfehar it GERL & Siferrgur, WrsH
3R SuEhT & A gl 8, ™ wfshan S5 SITa1 g |

1. Cognitive / TIMTHS
2. Affective / THTAT
3. Self regulation/ ¥d AT

4. Motivation/ UUT

Correct Answer :-
« Selfregulation/ ¥ T

12) What concept of conservation focuses on the amount of a substance that exists? / JI&0T Cakank:|

Rrgia foplt icer uard &Y aEn R Hfga 32
1. Weight / dgl4d
2. Area / &% d
3. Mass / G&HM
4. Length / 9T



Correct Answer :-
e Mass / gGH

13) What cognitive ability are children displaying when they attribute human-like qualities to objects? /

T PIH-Ht FFTHS &1 ST ¥ § 919 d &GS B A TON & Adod Hd 87
1. Egocentrism/x’rl_s"‘l-ﬂa('s?n@@\_rq)

2. Conservation / TR&0T
3. Animism / SI1gdTg
4. Object permanence/ 9] R

Correct Answer :-

« Animism / ST

14) Some children experience excessive anxiety at being away from home, even after a long period of
time. What might they be suffering from? / & T A I dP R A [43 A b arg i, R [34 G|
TR AARIP foar o1 sgHa &ed 21 3 fora & fifsa gt g 82

1. School phobia / ¥Hd WIfadT
2. Social anxiety / oI feidn
3. Conduct disorder / 3{TERUT fddhR

4. Separation anxiety / 3{¢TTd CARERI]

Correct Answer :-
o Separation anxiety / 3{¢Id CHREI

15) An example of self-report measures of personality is/ feid & STeA-fRute Sur &1 Udh Jqlerul

1. MMPI / THUHTI3E
2. Sentence Completion Test / AT U;quﬂ&‘l'UT

3. Rorschach Test / WW&‘WT
4. TAT / é'Qé'

Correct Answer :-

« MMPI / THUHATISMS



16) Intense mood swing is a characteristic of / GIES Hs g e &1 %:
1. Learning disorder / 3{{&TH 3f&fdar

2. Bi-polar disorder / %Qﬁ)f fapR

3. Conduct disorder / 3{TERUFTT fdhR

4. Anti-social personality / SIS Afdda

Correct Answer :-

 Bi-polar disorder / %ﬁ fapR

17) Which of the following best describes Maturation of a learner? / Fafafead g @ Udh Rremdf #t
URUE AT ST HaH BT qUH BT 52

1. Tt is a continuous process of individual development/ Ug HfaaiTd faer™ &t Ush dd I % I
2. It is related with cognitive capabilities/ I8 IITHD &Hd 3 I aferd %I

3. Specific environment is required/ fafRIy araTaRur BT awgehdl gl %I

4. It takes place at specific age/ o fafary Y g %I

Correct Answer :-

 Itis a continuous process of individual development/ Ug HfeaiTd faer™ &t Ush dd ufeear % I

18) Which type of memory takes special account of context? / oo ueR ot Wﬁf T &1 faxiy e
@l 82

1. Iconic memory / Eﬁ%ﬂ@ﬁ?{ﬁf

2. Echoic memory / Uﬁfﬁﬁ@{ﬁf
3. Episodic memory / PISIICs Fﬂﬁ[
4. Sensory memory / Faat Fﬂﬁ

Correct Answer :-

» Episodic memory / PISIICs Fﬂﬁ[

19) Students who disturb others in a classroom are likely to have type of learning style./ Eli

gﬁﬁ&nﬁgﬂﬁﬁwmﬁmw UPR B JGA 3t Al g1 B TUTGT gl
|

1. Kinesthetic/ TTfagdal (?ﬂiﬁ@ﬁ@
2. Tactile/?qﬁ:ﬂqéaelﬁﬂ)



3. Auditory/ 44Ul

4, Visual / €9

Correct Answer :-

« Kinesthetic/ Tfcda! @Eﬁ@ﬁ@

20) Who carried out an experiment on memory involving nonsense syllables? /ﬁﬂ:ﬁ'\“{ﬁf WRUTD AT
T, foras soar wregizr i 42

1. Ebbinghaus / Q'W

2. Atkinson / Q?mq
3. Posner / TR
4. Calkins / BTAfGY

Correct Answer :-

» Ebbinghaus / Q'W

21) Who proposed the concept of zone of proximal development? /ey fae & ?33[ P AGYURT
BT UTa forea T@m?

1. Abraham Maslow / 3{STgH T
2. Lev Vygotsky /g Eﬂ%"w

3. Carl Rogers / CAREUSE

4. Albert Bandura / 3feee E\I{Ugﬂ

Correct Answer :-

« Lev Vygotsky / Td aTSTcqah!

22) The spinal cord develops earlier to the heart. This is because of the operation of the following

tendency. / 31¢ @1 33! T5T | T4 AR gidl 31 T8 w1 wgfv & Tame< & sRUT glar 8:
1. General to specific / AT ¥ fARIP &

2. Cephalocaudal / RIhaIBESd

3. Proximodistal / MIGATHIT S

4. Part to Whole/lmﬁww (Cﬂé@@ﬁ)

Correct Answer :-



« Proximodistal / FIIHIISEA

23) The following is an example of a secondary reinforcer. / mmmﬁw
SRR 3|

1. Ice cream / Gﬂgﬂﬁq
2. Dress /W

3. Money / 4

4, Juice /¥H

Correct Answer :-

e Money / Y1

24) Maladjusted children are generally seen in / HTHIId: Wﬂﬂﬁrﬁ T uﬁé‘*@r SITd %
1. Broken family / foeR givarR &

2. Rural areas /ITHIOT &1

3. None of these /3_'{&[ I aﬁs‘ﬂﬁ
4. Poor family / TRig uRaR

Correct Answer :-

» Broken family / foeR gfivarR &

25) One learns to use one’s muscles and acquires a skill due to: /
TS i, AU ST STIRT HIAT HIEdT 7 3R §HP HRUI TP DI YT BT 5:
1. Maturation /
URUSdd
2. Exercise /
S
3. Learning /
3fferTH

4, Parents’ force /

SYHTID] BT TR

Correct Answer :-



e Maturation /

26) During the first half of the 20th Century, students, those identified as
having special needs, received few or no special services in the schools.20 / af

AT & U SHIG & SR, B, o) ugarH faiv smawgewdan
@A Tl & U d 31 T8 A, 3% Wl # $O AT HIs 92 Jar g1 fredt 4

1. Above average / 3d T 3rfh

2. Exceptional / SHTYRTI

3. Mentally retarded /WW@[W
4. Poor /Tlﬁa

Correct Answer :-
o Exceptional / 3THTURUI
27) CANCELLED

VARK model of student learning was proposed by: / ©TA 3IfATH PT qTh ATSA 3?%7 [-1Kd}
warfad fobar war or:

1. Kohlberg /a'ﬁ_@'a_@"f

2. Neil FIeming/:ﬁaqﬁﬁ"T
3. Piaget / o

4. E. Erikson / §. 3Rag

Correct Answer :-

e Neil FIeming/:ﬂatﬁﬁi"T

28) CANCELLED

During the emergence of language, the ‘jargon’ period is present during / HT4T FIFEA D a?'F-l, “RleqolTel
T ARTA” Safy §9 SR gielt &:

1. Nine months to one year / T A W Up N
2. Birth to three months / 57 ¥ F A& A

3. Three to six months / d9 T - q‘bpﬁ



4. Six to nine months / @: I A1 II—E»Pﬁ

Correct Answer :-

« Six to nine months / F: A A Iléﬁ

29) Which of the following is the best way for parents to support and help children cope with

failure? / FFraferf@d & @ -1 ATd1-fUdT gRT 9= B SRIPadr 9§ fuea & gudH 31 s
ITP! HEE B BT AT 3BT TRIPT 872

1. Create a comforting environment for the child to engage in another activity to forget their failure / IAP!

HA B YA & T = B! foredt o TfAfafy & Rd A 8 U SRS GRART HT FHH{0 ST

2. Listen, empathize, then focus on opportunities to learn, not abilities / {1, Wﬂﬂ%l W], i
R o TR TR & diad BT, 7 fob AT W

3. Create an environment for our kids that shelters them from potential failure or disappointment /

30 I & forw U gRawy o1 fRmior & ot I8 AHTfad 3w adT a1 AR 3 S|
4. Push kids beyond their capabilities / Sl P 3! &HATS F TR b1 T G HRAAT|

Correct Answer :-

« Listen, empathize, then focus on opportunities to learn, not abilities / g1, Hslj‘ﬁ[ﬁ T, i

TG & SR TR A dhigd BT, 7 fob eiarst i)

30) Inquiry approach method develops the ability of learners for / T&daT® ef¥®Ivr fafdr I Rrenfiay #t
= & fore eryar &1 Qo™ T 8:

1. Using the experience of a teacher/Wﬁ[&‘W%ﬁ Hﬂlﬁmmﬂml

2. Assimilating more information in less time /Wmﬁ 3HYH BRI B I HRATI

3. Experimentation /WT

4, Maximizing verbal Iearning/m SITH BT I=dH THT db del-l

Correct Answer :-
« Experimentation /E@"T

Topic:- General Urdu(L1GU)
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L";Lf:; h.pE: - b'J/
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Correct Answer :-
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Topic:- General Hindi(L2GH)

1) FERE@l.... d@), 9 30 & YT g & g ge-ft gt N siftraafd &1 urerw (@ 8k wed uaTa:
3T forw) am &t SEieh AT (M) T I, TS | &, TS U aTd & g A sruq ustal, Wa-ard sie uRar, iR
Y T & I DI Y=YATE 3T § [ [pat UTHT F apr Hft P15 ar W IRl e TS 7 81 9 ot W gy
T AfETS B B A | BT I 31 81 8 6§ 50 B IS [1eAr Hren a1 Rreq #) 78) s won1 &) 3 b
T 39 Y U 3R T, SHPT WY HRUT @ A Fa=1 § FR1ar 3R ud 9, 379 U TP R 3R FaTgTale-
W4T 3R SaTeTErg & &) aiiefe ararexor § s & e arem ieamre=1 3R & omst ot sroeht siik Eedt
2, ITavg FU-A U g 34l B g8 R favad H= arat 3o Wil Aiveie ardraror &1

ST TR B UG -1 IR 7T Uy T SR Ia133:
UH- d@® B &Sl 7 U= 3R [ safda & orr ey fHan



1. fgaR
2. AgTa aHf

3. 9=
4. TR

Correct Answer :-

2) FEETEL.... @, | 30 § HrT g & e et gt i1 siftraafdy &1 areaw (@ 8k w9 uaTa:
3= forg) o Y SEiSh AT (SrwERT) AT 3¢ TSTa | BT, 31T U a1 & forg & 3o uaiel, Wa-ard wire uRanr, v
A T & I B Y41 SaT § 1% [T HTT B AhR Ht FIE IR W IRY TR T 7 81 9! ol T geg
T AfRTSh B) TR AT | EHINT 99 5971 81 8 fp & 570 B 13 areqr yron ar Riew #) 78 % g1 &7 3 =
g3 39 T Ut 3R T, 3eT WY RO A Aa=1 § FRmar iR ud 9, 399 U IRBR 3R FATRTaIG-
a 3R gaTerare & fEd A araravor & fosy | fras arar wiers 1 iR &) amer oft st oiiv wfitarcht
2, STaY[E PH-A U g 91 B g8 3R faRad B ard 3y TP, JieIie araravr & |

ST TR B UG 1 U T UY T IR qa13d:
TH- AR BT 3T 32

1. G B

2. @Bl

3. gE Bl

4. A gl

Correct Answer :-

. @A

3) TEIETAL.... al, T 30 & HTeT gt & gart ge-i gt <t eifdreafe &1 wreaw (@ iR ¥da Tdraa:
arqﬁﬁ—m)maiamﬂzn(armmaﬁmla 3Tl U 91d P fore A 3= ystel, Y-a1d wire uRaR, v
3R T F T S Y=Yd1G T § fob [Pt UTar &1 dp? 1l F1E Sar W IR R ST 7 8 It ol W g
T AfET B B A BT 9 31 81 ¢ 6 & 50 B IS [1eAr Hrem a1 Rreq #Y 78 s 9or1 ) 3 it
T3 39 Y U1 3R T, 3HBT WY SR o A Fa=1 A FRTar iR ud 4, 379 U PR 3R FaTgEle-
I 3R gaTerare & fE A aramavor & fey | fres arar wiers 1 iR &) smer oft st ol wfitercht
2, ITav[g $U-I U G Sl $I gET 3R favaa &3 ara v+ Soivf, Fiveriie arararor &1

ST T B UG 1 UD T U P IR qa133:
U=A- 3 oY eTeTaTe # F¥T araraRor 412

1. IigfAs

2. TSI

3. U1t



4, TS

Correct Answer :-

4) SEXETdl.... at, T 30 H o gt Y gord Qe gat < siftraafaa &1 wrenw (um ok Wéa TwTaa:
3T forw) am &t SEieh AT (M) T I, T | &, TS U aTd & g A sruA ustal, Wa-ard sie uRkar, iR
T T & I DI Y=YATE 3T § [ [pat UTH B apr Hft P15 ar W IRl e TSt 71 81 9 ot W gy
T AfETS B B A | BT N 31 81 ¢ 6 & 50 B IS A1eAr Hren a1 Rreq #Y 78 w= wor1 &) 3 b
g 39 Y Ut 3R T, SHPT TP HRUT o A Ia=1 A FRTar 3R ud 4, 379 U TP R 3R FaATgTale-
W4T 3R SaTeTErg & &) aiiefe ararexor § fE) & e arem vieare= 1 3R & omst ot sroeht siik Eerdt
2, ITavg U U gF 34l B g3 R favad H= arat 3ru Wil Aiveie ardraror &1

ST TR Y Ugh -1 IR 7T U T SR Ia133:
TH- 4GP BT HaY UT?

1. STRIUT URAR &

2. A IRAR

3. OC YRR &

4. PO GRAR ¥

Correct Answer :-

. Olc gRaR 9

5) SEIETAL.... al, T 30 & HTHT gt &t gard ge-t got <t sifireafea &1 areaw @ iR Ida Tdra:
3T forw) am &t SEiSh AT (M) T I, T | B, 31T U aTd & g & 3ruq ustal, Wa-ard sie uikar, iR
3T T F T B Y=UA1G ST § fb fHaft uar &1 dpr 1l H1F Sar N IR e TSt 7 8 I3t i W gy
T AFETSP B BR A | BT 9 31 81 ¢ I & 50 B FIS [1eET Hrm a1 ey #Y 78) F= 911 & 3 7af
g 39 Y U 3R T, 3BT WY HRUT A A Fa=1 § FAR1ar iR ud 9, 379 U IPR 3R FATgTale-
9 3R gaTerEre & ) AriefAe aramaver # foe & frem arar wiere 1 iR &) oot oft st oiiv =ittt
2, ITaN[g U U g Il B g7 R e H= arat 3ru Wb ivf, Aiveiie® ardraror &1

ITYe TR P UgH 1 IR 7T UY BT IR Id133:
WS- A@® Bt 5 919 BT Y §2

1. Tl B g A ¢ U

2. HTT BT THR ST T B M

3. HHiurar

4, TATGEIG H =138 U

Correct Answer :-

o HTYT BT THR 3109 7 B Ul



6) TEIETAL.... al, T 30 & HTHT it &t gart ge-it gat <t sifireafea &1 areaw (@ iR 9da Tera:
amﬁﬁrmma’rsravﬁm(ammaﬁmla 3Tl U 919 & fore A 3= ystel, H-ard sire uRaR, i
Y T & I DI Y=YATE 3T § [ [pat UTT F apx Hft P15 Har W IRl e TS 7 81 9 St W geg
T AfETS B B A | BT 9 31 81 8 6 T 50 B IS [1eAr Hrem a1 Rreq # 78) s wor1 &) 3 b
g 39 Y Ut 3R T, SHPT WY HRUT o A Fa=1 A FR1ar 3R ud 4, 379 U TP R 3R FaTgTale-
W4T 3R SaTeTErg & Ed) aiiefe araraxor § ) & e arem vieamre= 1 3R & omst ot sroeht siik @t
2, ITavg U U gF 34l I g8 R favad H= arat 3ru Wil Aiveie ardraror &1

ST TR Y Ugh -1 IR 7T U T SR Ia133:
- AP B B B2

1. STH A B el

2. TN 1 FILHT 9 B U |

3. HTNT & &7 - R U 1|

4. YIS BT YIR-UGR 7 B3 UM B

Correct Answer :-

o YTYT Bt JIYAT 7 B UM BT

7) SEIETAL.... al, T 30 | HTaT gt &t gart ge-it gt <t sifireafea &1 areaw (@ iR Tda Tea:
3T forw) am &t SEieh AT (M) T I, TS | &, TS U a1d & g A sruA ustal, Wa-ard sie uRar, iR
AT T &b I DI Y=YATE 3T § [ [pat UTHT F apr Hft P15 ar W IRl e TS 7 81 9! &t W geg
T AfETS B B A | BT I 31 81 8 6 T 50 B IS [1eAr Hrem a1 Rreq # 78 w= wor1 &) 3 b
g 39 Y Ut 3R T, SHHT WY HRUT o A I A FR1ar 3R ud 4, 379 U TP R 3R FaATgTale-
W4T 3R SaTeTErg & &) aiiefe araraxor § fE & e arem vieamre= 1 ok & omst ot sroeht siik @t
2, ITavg U9 U g 34l B g7 R favad H= arat 3o Wil Aiveie ardraror &1

ST TR P UGH 1 TR Y UY BT IR 9154

T AP BT JaY fpa g a 82
1. UG gy
2. §EA Y
3. YRAg T
4. UG g

Correct Answer :-

. SEAGIY

8) FEXETdl.... at, T 30 T TuT gt &Y Yo Qe gat i siftraafaa &1 areaw (um ok Wea TwTaa:
3T forw) am &t SEiSh AT (I T I, TS | B, TS U aTd & g A 3ruq ustel, Wa-ard sie uikar, iR
3T T F T B! Y=UA1S ST § fob fHaft urar &1 dpr 1l F1F Sar N IR e WSt 7 8 I3t o W gy



T OGS 1 O Al | MBI 99 A1 51 & T T 50 B HIg 1T UTHT a1 ey &1 7981 H2 gor1 8t 3 &=
g 39 Y Ut 3R T, SHPT WY HRUT o A Fa=1 A FR1ar 3R ud 4, 379 U TP R 3R FaTgTale-
UaTH 3R garerEre & Fd wiefAe ararevor # fas @ frem arer viame= 1 iR Y one ot sraeft ok wiardt
2, ITav[g U9 U gF 34l B g8 R favad H= arat 3o waivf, Aiveie ardraror &1

ST TR Y TS -1 IR 7T U BT SR Ia133:
wA- Rew g 8

1. fac=h

2. IH

3. daad

4. SRS

Correct Answer :-

9) FEXETd|.... at, T 30 H Tar gt fEdY Yo Qe gat & siftraafaa &1 wrenw (SR W TwTaa:
3T forw) am &t SEieh AT (M) T I, T | &, TS U a1d & g A sruA ustal, Wa-ard sie uRarR, iR
AT T &b I DI Y=YATE 3T § [ [hat UTHT 3 ar Hft P15 Har W IRl e TSt 7 81 9 It W gy
T AfETS B B A | BT 7 31 81 8 6 T 50 B IS [1eAr Hrem a1 Rreq # 78) w= wor1 &) 3 b
g 39 Y Ut 3R T, SHHT WY SR o A Fa=1 § FR1ar 3R ud 4, 379 U TP R 3R FaTgTale-
W4T 3R SaTeTErg & &) iiefe ararexor § fE & e arem vieare=1 iR & omst ot sroeht siik @t
2, ITavg U9 U gF 34l B g7 R favad H= arat 3o Wil Aiveie ardraror &1

ST TR B Ugh -1 IR 7T U T SR Ia133:
- TSI Xeg T 82

1. 3R

2. SBITTHT

3. BRA!

4. bl

Correct Answer :-

10) FERE@l.... at, T 30 F 1w g & g ge-t gt 1 sifreafaa &1 urenw (@1 SR w9 THTaa:
amﬁﬁfmma‘reavﬁm(ammaﬁmlm 3Tl U 919 & fore A 3= ystel, Ha-ard sire uRaR, i
3T T F T B Y=YATG ST § fb fHaft yar &1 dpr 1l F1F Sar N IR e WSt 7 8 g9t i W gy
T AT B BR A | BT 9 31 81 ¢ T & 50 B PIS [1eET Hrm a1 ey Y 78 F= 911 & 3 )
g 39 Y U 3R T, SHDT WY HRUT o A Aa-1 § FR1ar iR ud 9, 379 U IRPR 3R FaATgTale-
TaY 3R gaTerEre & ) AriefAe aramaver # foe & fires arar wiere 1 iR &) omer oft st oiik =ittt
2, 195G $H-A FF G 1 B g8 3R faRaa w1 aret 3fu=t Aivl, FiveTie arararvr & |



IUYF TR P UgHR A1 I 7Y U PT IR dd133:
TH- AR’ Teg A A A /T 82

11) FEET@l.... at, T 30 F HTuT g S g et gt 1 sifdreafas &1 urenw (@ SiR w9 THTa:
3= forg) o Y SEiSh AT (SwERT) AT 3¢ TSTa | BT, 31T U a1 & forg & 3ru uaiel, We-ard wire uRanr, v
A T & I B Y41 SaT § 1% [T HTHT B ApR Ht FIE IR W IRY TR T 7 81 9! ol T geg
T AfRTSh B) TR AT | EHINT 99 5971 81 8 fp & 570 B 13 areqr yron ar Riew #) 78 % g1 &7 3 =
g3 39 T Ut 3R T, 3eT WY RO A Aa=1 § FRmar iR ud 9, 399 U IRBR 3R FATRTaIG-
I 3R gaTerare & fEd) ariefAe araravor & fos | fras arar wiers 1 iR &) amer oft st oiiv wfitarcht
2, TTau[g PH-A U g 91 B g8 3R faRad B ard 3y TP, Jierie araravr & |

ST TR B UG 1 U T UY T IR qa13d:
WH- ‘§SW H1 qaTgardl A1 82

1. fea

2.fga

3. 9t
4. HTol

Correct Answer :-

12) EE@l.... at, T 30 F HTuT g & g ge- got 1 sifreafaa &1 urenw @ SiR w9 THTaa:
3= forg) ot Y SEiSh AT (W) AT 3¢ TSTa | BT, 31T U a1 & forg & 3o usiel, Wa-ard wire ufanr, ik
3R T4 F T S Y=Yd1G T § fob [Pt UTar &1 dp? 1l F1E Sar W IR @R WSt 7 8 It ol W gy
7 AfET B B A BT 9 31 81 ¢ 6 & 50 B IS [1eAr Hrem a1 Rreq &Y 78 w7 9or1 ) 3 it
03 39 Y U1 3R T, 3HBT WY SR o A Fa=1 A FPRTar iR ud 4, 379 U PR 3R FagEle-
Uard 3R gareTare & & wfefe arararu # s | fires arer wieare 1 ik &) amer oft eroft ok Eiredt
2, ITav[g $U-I U G Sl $I gE 3R favad &34 arat v+ aivf, Fiveriie araravor &1

ST T B UG 1 UD T U P IR qa133:
T=H- fARTer 3R ud fea g & wfa g2
1. Sl



2. JATfaTe
3. TONTAIG
4. 18 Pfgar

Correct Answer :-

13) FEEdl.... at, T 30 F HTuT g & g ge- got 1 sifdreafa &1 urenw (@ SiR w9 THTaa:
3= forg) o Y SEiSh AT (SWERT) AT 3¢ TSTa | BT, 31T U a1 & forg & 3o usiel, Wa-ard wire ufanr, v
YA T F T S Y=Yd1G T § fob [Pt UTar &1 dp? 1l F1E Sar W IR TR ST 7 8 It ol W g
T AfETs B B A | BT 59 31 81 ¢ 6 & 50 B IS [1eAT Hrem a1 Rreq a5 78 w2 wor1 ) 3
03 39 JHY U1 3R T, 3HBT WY SR o A Fa=1 A FRTar iR ud 4, 379 Ui PR 3R FagEle-
I 3R gaTerare & fE A aramavor & fey | frem arar wiers 1 iR &) smer oft st ol wfifarcht
2, ITav[g $U-I U G Sl $I gET 3R favaa &3 arat v+ ahivf, Fiveriie araravor &1

ST T B UgHR - UD T U P IR qa133:
WH- “YARY $T 3T 52

1. WeW

2. IR

3.d™

4, XA

Correct Answer :-

14) FEET@l.... @, T 30 T HTwT I & g e gt 1 sifireafaa &1 urenw (@ SiR w9 THTaa:
3= forg) o Y SRiSh AT (SWERT) T 3¢ TSTa | BT, 31T U a1 & forg & 3o usiel, Wa-ard wire ufanr, v
3 g & T DI Y=UATE ¢l § [ fhelt UTar &1 Apr Fft 1S Slar W IR TR W1 7 8 I3t ol W ad
T AfET B B A | BT 7 371 81 ¢ 6 & 50 B IS [1eAr Hren a1 ey # 78 s won1 ) 3 b
g3 3T THY U 3R T, 3qBT WP HRT a1 A a1 & FAR1er iR uq A, 399 I PR 3R gagere-
UaT 3R Farererg & Fd Wi ararevor # fEy @ frem arer viame= 1 iR Y one ot sraeft ok wiadt
2, I1av[g U U g 34l B g8 R favad H= arat 3ru waivf, "ivee® ardraror &1

ST TR B Ugh -1 IR 7T U T SR Ia133:
- e 1 flaaa 82

1. Faprof

2. 3T

3. ot

4, Xdd



Correct Answer :-

15) HTH UR F4I o1 3¢ § g=?

a1 fafver § AR 7€ § It A

=1 el A @ Rrar §

I &1 gt frarat

T HTA UGTS & 1d g9 1Y § AR f&e=

w1 fdlt Yy A ag T §

AR HE™l B gARA

T AR A, TR T 3R W & 3=

G g1 7Y § UPISD

a1 fiex oo € = @ @ g A2

foe warTe giem AR T e
YOS § AT 30 oft surer a8

f 8wt e g

Iued U= ) Ugehs 19 U T UY HT IR Id133:
UH- Ugd Sfaar A #fa g fastaar &t 8k 3T a2 |1 8?2
1. Aot fagwaH

2. T8 q IS T&l

3. HToI- 3T fastamT

4. UIRGATR® fagtemT

Correct Answer :-

. RS- fasta

16) STH R R AT & g22?

T Sfafeer d R 18 & 9 4

w1 SHet A @ Rorar @

AR 1 faatt forarat ot

T HTA UETS F - g9 1Y § AR =



AR HexE! B gARS

T AR A, IR T 3R W & i
T 1Y § UhITH

d e s S e g s ghhar

foaa v gYar oR T ga
IS § A 500 ot SureT 98

5 & 9t Il grammgE

ST TR H1 g A1 UD T ¥Y HT 36 qa1sd:
TH- g d1 3 g 2

1. gYTRIfad

2. gurd

3. JUIGd

4, QYTHYHT

Correct Answer :-

o JYiqd

17) STH R I 13 § ga?

w1 Sfafver & AR 7 & a1

=1 W) A @ foran ¥

A 1 et fmarat &Y

T ST UETS F -1 g9 Y § AR =
T Pt yHu dsg TS §

I 7] B ARG

T AR A, IR T 3R Wi & S
T B¢ § THID

a R s e s ghar

fee v giaT SR Ta ga
YOS ¢ Afe 3@ ff sureT a

% & Wt i gvammg@

ST UL B g A1 UD T ¥Y HT 36 Ta13d:
W= AR f&dH o8l g9 e §2



1. T UGTS & iid
2. R & A

3. 91 o

4. BgM &

Correct Answer :-

. DI UGIS & -iid

18) T W Tl 17 § T=?

w1 Siafver & iR & wrd A

w1 ! A @ fern §

AR < faeht fomarat #1

T T UGTS & -1 &9 ¢ § AR &=
w1 fbelt ey & 78 T @

AR HETH! B gARA

T IR A, IR T2 o oY & 3ifm=
T §1 1Y & TP

d fr s f e g s ghhar

foaT v gaT SRR T Fiar

YIS ¢ dfe 0 it ST a

& & wrdt el gxamngE

SUIE UL B USH 1 T T UY HT SO Ia153:
- g Bt WA fawaral o1 feam @ o @2
1. {RIAT A

2. DI A

3. YbTRID] A

4. fagmeg 4

Correct Answer :-
. Y

19) FTH R T AR & ga2?



a1 3faivel | R 713 8 9t ¢

w1 Sl A @ feran §

A 1 et fmarat &Y

T ST UETS F -1 g9 Y § AR =
w1 frelt o & 75 T &

IR 7eE! Bt ARG

TR AeM, TR T ok oY & o=
T §1 Y § THID

1 fbx o 1 7 @ s g A2

fee v giar oR Ta gra
YOS ¢ Afe 3@ ff e a

% § 9t i sxamm@

ST UL B g A1 UD 7T ¥Y HT 36 Ta13y:
- Hewa 9 a1y §2

1. AIAT BT W

2. HGRI &1 @

3. fRram-=ye

4, HISIG

Correct Answer :-

. Rrer=a

20) HTH R Tl A1 3E & Ta?

w1 Jfafver # R e & A A

w1 St A @ fora @

|t 3 fott foraral ot

T HTA USTS & -1 gd T¢ § 9N f{e=
a1 et by & g % §

AR TE3H] $t AR

T IR AgH, R T iR @RI & ST
T 1L § UhIUH

at fer s ft Fn g s gfar o2



foamT AT BT SR T gt

AT § AfpT 500 W SuTaT 98

% & Wt il seaAT@

ST UL B Ugeh A1 UD T ¥Y PT 36 Ia13y:
- fEe We $t SaRATE:

1. forRIRTaRAT

2. dleYTaR|T

3. JGTaRIT
4. TID

Correct Answer :-

21) HTH R Tl W18 & Ta?

a1 Sfafver § iR 7 & I A1

w1 At A @ e §

ARt 1 foaht faparat ot

T BT UFTS & 1A g9 7Y § 9K f&e=

a1 et by & g5 1% §

AR HeTw! B gARA

T IR AgH, R T iR @RI & ST

T 1Y § UhIUH

at fer s ft Fn g s gfar

famT AT BT SR T g

HATTP ¢ Afdp 509 i sarer a8

5 & 9t el gxamngE

ST U H1 UgH A1 UD T ¥Y HT 36 qa1sy:
U TRgd Hfadr # i sftaq 3 f5a srawur &1 aiftfe o wwar 82
1. §9UH

2.91g

3. gATaRT



4, fHPRIRTGRIT

Correct Answer :-

22) HTH R Tl A8 & ga?

w1 Jjafve o R 7S & ard A

w1 HAP! A @ e §

I < faeft foarat 1

T HTA UgTS & -1 g9 T¢ § R f&e=

w7 fpalt 4@y W g5 1S &

AR HEIH! 31 gARA

T IR AGH, IR T 3R W F =

T 1L § UhIUH

i fiex o St F 8 s g &2

forem yaTe gaT e T B

YOS ¢ afe 3@ ff sureT 9

% & w9 sxamm@

ST UL &1 g A1 UD T ¥Y HT 36 Ia13d:
- Ffd Bt U @IS fpa T 32
1. gEHA

2. Sfale ¥

3. gAY

4. Ybu q

Correct Answer :-

23) HTH R Tl W18 & Ta?
w1 Jfafver # R 7 & A A
w1 St A @1 foran &

IR 1 et forarat ot



FIT STl UETS & 14 &q ¢ § UR fEe+

w7 fpaft ey W gg 1S &

AR HexH! B gARS

T IR AgH, IR T iR @R & ST

T 1Y § UhIUH

at fer s St Fn g s g

famT AT BT SR T g

HATTP ¢ Afep 500 i sarer a8

fo 8 ARt il geArE

ST U H1 UgH A1 UD T ¥Y HT 36 qa13y:
WA- BT U | o1 ¥g & a= Bl 91 g2
1. YYIrAD aIRd

2. TTH A BHIS TN

3. THRIAD AR

4, JPRIHD dlH

Correct Answer :-

o UHdIHD I

24) HTH IR T AR § ga?

w41 Siafver & i s & wrd g

w1 St A a1 Rorar @

AR < faefh fomarat 1

T ST UETS F - g9 1Y § AR R+
w1 foelt ey & 75 TS @

AR HETH! &1 gARA

T IR A, IR T 3 o= & 3ifm=
TH 81 Y § TPTLD

d e s S e s ghhar

T yarTe gaT eR YT B
HATTP ¢ Afdp 599 i sarer a8

5 & 9t Al grammgE



SUYH U= BT Ugdh< -1 I Y UY T IR qad184:
- <SP’ TP UBR BT 82

1. d &1 A

2. fp it &1

3. uard

4. BIAIPIC

Correct Answer :-

25) HTH R Tl A3 & T22

w1 e ® R g & w1

=1 W) A @ foran ¥

ARt 1 faratt foparal ot

T T UGTS & -1 g9 ¢ § AR f&e=
a1 foreft ybu & 25 S §

AR TRl B AR

T IR A, IR T 3R Wi F A=
T 1Y & BT

d s S e s ghar

foeT YT graT SR YT Biel
YOS ¢ dfe 78 ff e a

5 & 9t il grammgE

ST UL B g A1 UD T ¥Y HT 36 Ia13y:
USH- “UgTS’ BT Ygigari givm?
1.9Y

2. 3

3.7Rq

4. TR

Correct Answer :-



26) HTH IR I AR § ga?

a1 Sfafver § AR 7 & I 1

w1 St A @ fora @

ARt 1 foatt faparat ot

T BT UFTS & 1A g9 7Y § 9K f&e=
w7 fpaft ey W gg 1S &

AR W] B ARG

T AR A, IR T 3R Wi & &=
T g1 Y § UHITH

a1 fbx 5o §f 7 8 s g A2

faT v gt SRR T Fiar

IS § AfepT 50 ot SuTeT 9%

fo 8 ARt il geARE

ST U B UgHR A1 UB T ¥Y HT 36 qa133:
WH- ‘P UgTS’ § AN 32

1.58

2. 3t

3. A2y

4. HHYRY

Correct Answer :-

. HHYRY

27) TR T AT & T2

w41 Siafver & i s & wrd A

w1 St A @ Rorar @

ARt 1 faratt faparat ot

T ST UETS F - g9 1Y § AR R+
w1 foelt ey & 75 TS @

AR HexE! B gARA

T IR M, IR TR 3R =Y & =



A §1 Y & (PIH

a R s e s ghar

T 1A el SR T gt

IS § AfpT 500 i SuTeT 98

% & Wt i svawmmg@

ST UL B g A1 UD T ¥Y HT 36 Ta13y:
TA- fpare &1 yaiaard! 2 81 82

1.

2. 79

3. Ot

4. THI®

Correct Answer :-

28) HTH R Tl AT 3E & ga?

w1 Jjafve W AR 7S & ard A

w1 HAD! A @ e §

I < faeft foarat 1

T HTA UgTS & -1 &9 T¢ § R f&e=
w7 fpalt 4@y W gg 1S &

AR HEIH! 31 gARA

T IR AGH, IR T 3R W F =
T 1L § UhIUH

it fiox s ft w8 s g &2

forem yaTe graT SR T B
YOS ¢ Afe 3@ ff SureT 9

¥ ¢ wrd I sxamm@

ST UL &1 Ugh A1 UD T ¥Y HT 36 Ia13y:
WH- “YGT® I8’ BT RIT UG 72
1. 44

2. 3{Tddh



4, Gl

Correct Answer :-

29) FTH R Tl AT & a2

w1 Sfafver § iR 7 & A 1

w1 et A @ fora @

|t 1 forft foparal ot

T HTA UETS & -1 g9 ¢ § 9K f@e=
a1 ot by & g % §

AR HERH 3 gARA

T AR A, IR T 3R R & S
T B Y § THIH

at fer s ft Fn g s g &

T AT e SR T gt

HATTP ¢ Afp 599 I sarer a8

¥ & 9 I sxamm@

ST U B UgH A1 UB T ¥Y HT 36 qa13y:
TH- T $YF BT 999 SN2

1. §&i B FAU- TIRD & S1a- & RIS 81T o |
2. g 1 SU WA-Ba AR e Bl R
3. Il Dl §9UA Y Bl HTH BT MY

4. Sl D1 Tpd & ToI YSRTR HRGHT AT

Correct Answer :-

. T P TIUT Q- AR e B SRR

30) TEXETI.... Y, T 30 F U A 3t gerdt ge-f gt & siftreafaa &1 Aregw (@ ok wed TaTa: orvA o)
a1 ol ST AT (IR T 3¢ ToTa | BT, TS T a1 & fore & 3ru= usiat, We-are ore ufiaR, iR sm s=- &
T P YAATG &dT § [ fheit UTHT Bl APR F $Ig SIaR W IRI G WS1 9 51 Tt o) A 567 T ARKTSP B R AAH
I T 3a-1T 81 & fop & 50 o2 15 areqr yrar a1 Riew 3t 78 % g1 fE) A 0 g2 39 aug St iR &,
ST WY RO A1 B Aa=11 & FR1an 3R ud &, 399 U SR SR SaTeTaTe- AR 3R gargmare & & aikfas



qrararor # 7 | e aren wieirg=T 1 iR f8dt omer ot srusit ok Wiwht 8, aras[g H-8 &0 g3 ol &1 gt 3R favaa
P 1 YA DT, FiUSIRIS qrararor & |

ST TR F UgHR A2 IR Y Uy HT IR gaTsd:
- AGP Pt A1 A DI A Bid A?

1. faR, =

2. S0 4 IS Tl

3. UHdG, I=IUTd

4. TARTeT, Ud

Correct Answer :-

. TR, da

Topic:- Mathematics (MAT)

1) Which one of the following statements is true about integer? /
Frafafaa & ¥ F9-a1 $y= ife & ddy ¥ 9@ 72
1. On multiplying any integer with 0, we get1./0 & 1y foat oft 110113? Eal o B R, g9 1 U gian %I

2. On multiplying any integer with its multiplicative identity, we get 1./ fopalt oft 110ﬁ$ CAReRiED TUMTHD dTHD
F YOI HA R, §H | I g g |

3. For every integer, 0 is the additive inverse. / PCa W & g, 0 td IS Uldad §

4. On dividing any integer except 0 by its additive inverse, we get -1./0 DI BIeHR Tt ot U;UW CARREC
AT Tfaam § fauiiord & R, 58 -1 T g o

Correct Answer :-

» On dividing any integer except 0 by its additive inverse, we get -1./0 Pl BISHR Tt ot U;UTW CARSRIC
AT faard § fauferd & R, 8 -1 U giar 3

2) If an amount of Rs. 1368 is distributed amongst 24 persons, then what is the amount that each
person gets? /

T 1368 TUT P YFRTRT 24 TN & o fIaRd o1 STl 8, o U safad o1 fard=it i et 82

1. Rs. 122/122%49¢

N

. Rs. 53 /53300

3. Rs. 153 /153340

N

. Rs. 57/57%UQ



Correct Answer :-

« Rs.57/57%UQ

3) A figure on a graph sheet covers 12 fully filled squares and 7 half filled squares. Find the total
area. /

TSP TP e W TH MHST 12 T BI G dvg A HIdT & 3R 7 T b1 3147 HIdT 8| P &A% JId
P

9% 5q units / Q%E?'f L
1- s &

, 13 1 sq units / 13 Zaef z&rE

; 152 sq units / 15 =gt S8

4. 19 sq units/ 19 CUECIE]
Correct Answer :-
157 sq units / 15 ~aef S@HE

4) A floor 4 m long and 3 m wide is covered with square tiles of colour blue, green and red. One-
fourth of the floor is covered with blue tiles of side 10 cm. Another one-fourth of floor is covered
with green tile of sides 15 cm. The remaining area is covered with red tile of sides 20 cm. Find the
number of blue and red tiles used. /

4 Hiex & 3R 3 ez et te Bl Q) g 3R a1 T & FiPR ersal A THT g3 81 WX BT T AT
YT 10 AW Ft Yot arad i et A a1 g3 21 BRI BT b 37 AUTE HIT 15 I BT YoI1 a1dt 8% [ Ht
TISEl | THT g3AT 81 W &F 20 T YOI a1 1 T3l | b1 g3 7 | I ¢ 7Y Hidt ok ot ergat ot
=T 91 B
1. Blue = 300, red = 150/

=tell = 300, <Td = 150
2. Blue = 300, red = 200 /

el = 300, <Td = 200
3. Blue =150, red = 300/

= = 150, T = 300
4. Blue = 150, red =200/

=i = 150, 916 = 200



Correct Answer :-

o Blue =300, red =150/

el = 300, dITeT = 150

5) Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages will give
Rajeev’s age. Suma is 5 years older than Rajeev. What will be the age of Suma after 3 years? /

G, 5T 3N IH B 3T HHIT: 10, 6 3N 13 &1 ITD! 3T BT TN ISig BT 3T 81 AT, IS A 5
¥ 5t g1 3 Tul a1¢ GAT Bt 31y frast giftz

1. 34
2. 30
3. 29

4. 37

Correct Answer :-

6) Another name for Formalism is ./
TEUaTE (BiHfreT) ¥ g o A gl
1. Abstractionism / 3RO (YRS aRIT97H)

2. Deductivism / f&Sfaefden

3. Logicism / G HAOITATG (ATSTTdeH)

4. Induction / SSaRM

Correct Answer :-

e Deductivism / fesfacfasH

=x"+tax+ b0 5and-3then @and P are: /

qﬁ.wp(x} =x’+ax+ bmw_z AR -3 %,?ﬁﬂ@b%':

1.5&-6/5Td -6

7) If the zeros of the polynomial p(x)

2.5&6/5Td6
3.5&6/-5Td6

4, 5&-6/-5Td-6



Correct Answer :-

e 5&6/5Td6

8) Which of the following explains the commutative property?/
Frafafea & ¥ si=-ar wafaf g 1o 3 saren a1 22

1. 103 +(25-35)=(103 +25) - 35

2. (atb) = (b+a)

3.35-22=(22-35)

4. a(b+c) = ab+ac

Correct Answer :-
e (atb)=(bta)

9) Which one of the following statements is correct about number? /
fFafafEd § 9 $1H9-91 Sy 9@ & 96y # 9d 372

1. Every number is a factor of one. / TS T Tdh H[ YCh Eﬂ?ﬂ %I

2. 2 is the only odd prime number. / 2 ToHHT AW 34T TBAT B

3. 2 is the smallest prime number. / 2 T BT HWH"@IT%I

4, One is a prime number. / 1 T U TBAT %’I

Correct Answer :-

e 2isthe smallest prime number. / 2 T Bict G{WW%I

10) A frog falls into a well of 12 meter depth. It tries to jump out. Each times it jumps up it jumps as
high as 3 meter but slides down 2 meter because of slippery wall of the well. In how many jumps
will the frog reach out of the well? /

e Hew 12 Hew TR Ue $Ho # FARar 31 98 a16R fAwen &) SR #3da1 31 Ud® 9R W9 9 o1 g af
g 3 Hiex SWR Ugd 1T § A Ha & fraa ardl SR & Rl 2 Hex i fraa omar 81 $T 9 arew
Frpaq & T dew & fha-l IR Fem vSTm?



Correct Answer :-

10

1) 1) ALMN £M=70° and LM=NM. Then 2 N= /

ALMN#, #M=70°Td LM=NM g, T zN=

1. 60
35°
2.
£no
3. 50
4, 70°

12)  Which of the following is not the solution of the equation F;x+5? /

T # & Plerar THFOT y=LatS F o 70T 8
1. (4,19)
2. (-6,-16)
3. (-12,-37)
4. (-8,23)

Correct Answer :-

If§+%=ﬂandax—hy=a:— b? thenx &y =? [/
aﬁg+%=ﬂt’ﬁax—hy=az— b2g, daf xTdy =7

_ala®+b*) bla®+1b7)
= aZ_h3 S a®_h3




al_iaz—bz:l blihz— az:l
X: premm— =
? at+hb? ¥ al+ b*

3. x= a(a?+b?), y = b(a®-b?)
4, x=a, y=b
Correct Answer :-

_a(a®-b*)  B(b*-&%)
T al+b? o= a+ b*

14) Ifx —|—§= 2 then the value of x —%is:.-'

G x+-=28, d x—- & A &

15)
Find the number of line segments required to make a honev comb structure with 20

compartments arranged linearlv? /

s w7 § gaffug 20 #131 arell Te AYFER G g9 & AT aEd
(EEsT fT 96T AT H?

1. 100
2. 105
3. 101

4. 120



Correct Answer :-

e 101

16) r ”g and [ be the transversal. »~1=61° then »2=7/

p |l @ 1w e Tar g1 21=61° & dr £2=2

’ I 7
e »
e
1 I
5 118
3. IS
4 119

Correct Answer :-

17)  In a parallelogram ABCD if ~CDB=45° and ~DAB=65%, then ~CBD =7 /
UF TAFGY adeel ABCD#, Ifg 2cDB=45° 3R ~DAB=65°%.d" £CBD =2

. 60°
, 45
5 B
, 10°

Correct Answer :-

70e



18) A number ‘a’ divides 1320 and 781 exactly. Given a#l, then the number “a" is not a factor of
!

w—m 2’ 1320 3R 781 &Y qola: fasnfora atclt 81 a1 f&am arm @, & &@war @
__ @ e el

1. 2101

2. Itself / ¥

3. 539

4. 125

Correct Answer :-

e 125

19) 1Ip atriangle ABC if zCAB=70°, and AB=AC then #B and 2C are /
us 3l ABCH, TG 2CAB=7(° 3R AB=ACE, ar 4B 3R C§:

80e, 80°
1.

55%, 80°
2. i

550 550
3. 35°,55

o o
4 20°, 80

Correct Answer :-

20) T et A afe Zx+6_—32 %. ar x=

3-9x 3 3-9x
1.2
2.1
3.3

4.4

Correct Answer :-

e 2



21) Choose the number divisible by 9. /
9 | fawifora g1 areft e &1 999 B
1. 9987123
2. 3425816
3. 6789548

4. 4536279

Correct Answer :-

e 4536279

22) Ejnd the value of m, if one zero of the polynomial (m? + 4)x* + 65x + 4m

other: /

is the reciprocal of the

af ggug (M* + 917 + 65x + 4m 557 gop IRIF I BT YHH B, A m FTHME G BY:
1. V2
2.3

3. 1

4. 2

Correct Answer :-

23) Find the value of m if (x-1) is a factor of P(X) =¥° +6x* —2x—5m.
qﬁpfx} =x3+6x%—2x— SmTﬂW(x-l) 2 & m BTAE TE

1.2

2.1

3.2

4.1

Correct Answer :-



24) Find the whole numbers. / EUf'\‘T@T STd B

16 x 8725 x 625
1. 87,389,600
2. 87,250,000
3. 83,760,000

4. 87,110,000

Correct Answer :-

» 87,250,000

25) James is inside an aeroplane flying at a height of 7000 meter above the sea which is below sea

level at a level. At a particular point, it is exactly above a submarine depth of 1/ 6t the height of
plane. What is the vertical distance between James and the submarine? /

ST U gaIgoIgTe & 3ieR ¢ ol U4 ad | 7000 HieX 3t $415 R 3§ ¥61 31 T faxiv fig v, 9@
TP TIgsl & 1 HUR 3 Ol gaIsolers & 1/6 HaTs fora-T GYg add & e g1 IR Ud UIgsl &
A SHeaitR gt fpa-t 82

1. 8333.33 meter / 8333.33 Hlex

2. 9166.66 meter / 9166.66 HieX

3. 9333.33 meter/9333.33 Hiex

4. 8166.66 meter / 8166.66 HIeX

Correct Answer :-

o 8166.66 meter / 8166.66 HIX

26) Anil is 6 years older than Akhil. Akhil is 36 months younger than Vijay. If Vijay’s age is taken as
y, then age of Anil is: /

3fra g H e ¥ 6 af we1 31 e 3y o faora A 36 WA Sier 21 afe fasa # sy y & Tu A ot
STt B, <t erfre &Y ey 3:

1. 6(y-36)
2. 6+(y-3)
3. 6+(y-36)
4. (y+6)

Correct Answer :-



27) If 76x — 189y = -37 & -189x + 76y = -302, then find the value of x and y. /
Ife 76x — 189y = -37 UG -189x + 76y = -302 §, @ x T y & HIF JId BI |
1.x=-2,y=-1

2.x=-2,y=1

3.x=2,y=1

4. x=2,y=-1

Correct Answer :-

28) ‘Mahabhaskariya’ an astronomical work completed in eighteenth century is written by: /
HRETYRS’ 3oRed! Wt § qul fsar mar ue @ity orf @ Rt ERT foram T 31
1. Aryabhata - 11 / &rrtfll'g' -1

2. Sridhara / R

3. Bhaskar Acharya / HIRGHR 3TARI
4. Ramanujan / XTHIJSIT

Correct Answer :-

» Bhaskar Acharya / HIXhX 3

29) are related to growing plants. /
ded NeY & Hafta g1
1. Natural numbers /W =AY

2. Real numbers / GRS IBEE H{%IQ

3. Fibonacci numbers / WW
4. Rational numbers / WW

Correct Answer :-

« Fibonacci numbers /WW



30) The length and breadth of a cuboid is 12 cm and 9 cm respectively. If the total surface area of
the cuboid is 678 cm? , then the height of the cuboid is: /

g:gwaﬁmaﬁﬁﬁmém: 12 3t 3R 9 At B1 A Ty &1 o yPiy AFwd 678 A2 ], o wATY F

1. 15cm/ 15 3+
2. 11cm/ 11 9#
3.6 cm/ 69

4,21 cm/21 9Ht

Correct Answer :-

e 11cm/ 11 3t

31) The sequence of steps for mathematical modelling is:
1) Understand the problem.

2) Mathematical description and formulation.

3) Solving mathematical problem.

4) Interpreting the problem and validating.

/ Tfvrd ufeReuur (wisfenT) & fore =Rl &1 3w 8:
1) UY/IHSTd S HSHTI

2) Tifordia faavor iR 3w

3) TR U/ FHRTS BT JHTUTH BT

4) VY /AT &1 TRT HIAT 3R T AT
1.3,2,1,4

2.1,4,3,2

3.2,1,3,4

4.1,2,34

Correct Answer :-

32) The main body of the lesson plan is based on the Herbartian principle of: /

TS GISHT BT G-I U & ga¢ Rrsia W snutRa 31

1. Presentation / mﬁl
2. Conclusion / frpy

3. Introduction / uf=yg



4, Association & Generalization / Y 3R RIS

Correct Answer :-

e Association & Generalization / Y 3R IHRAHR

.3 2 N 2 .
33) simplify:- 397°(50y% —98) + 26y*(Sy +7y ,

APy 393 (50y? —98) + 26y*(5y + ?)
1. 2y(5y-7)
2. 3y(5y+7)

3. 3Gy =7

4 2y(5y +7)

Correct Answer :-

. Gy-7)

34) Two triangles ABC and DEF are similar and the ratio of their areas is 25:9, then the ratio of their
corresponding sides is i

&l fAYS ABC Ud DEF TUEY § 9UT 3% &TEd $T JUTd 25:9 7, dl IS TId YeI13if &7 Srgurd
gl

1. 4:5
2. 53
3. 3:5

4, 54

Correct Answer :-

35) If mean and mode of a data are 11 and 8 respectively, then median=__ ./
Tfe TP SHST & ATEH 3R IgP HUT: 11 AUT$ T, A AfADBTI=_ 71

1. 10

2. 11

3.8



4. 12

Correct Answer :-

« 10

36) In a parallelogram ABCD, DC = 16 cm. If the altitude corresponding to the sides AB and
AD are respectively 8 cm and 10 cm, then AD=___ ./

TH GHHIR ag4sT ABCD #, DC = 16 It 31 9fe TG YSIE AB GUT AD B SaTS HHT: 8 T qUT
1083, TAD=___ |

1. 16 cm/ 16 94t
2.12.5 cm/ 12.5 9T
3. 12 cm/ 12 94
4.12.8 cm / 12.8 Tt

Correct Answer :-

e 12.8 cm/ 12.8 QHt

37) The mean of 25 observations is 36. If the mean of the first 13 observations is 32 and that of

the last 13 observations is 39, the 13™h observation is : /

25 W&{UTY T HTH 36 &1 TfS UgH 13 USTUN T HTEH 32 U 3ifaH 13 W&0if o7 A1 39 8, oY 1397 V&T &:
1.22

2.25

3.26

4,23

Correct Answer :-

38) What is the ratio in which the join of A(-4,3) and B(2,-6) divided by the y-axis? /
98 3uTd R 8, Forad fig A(-4,3) TE B(2,-6) B firam= areft ¥ y-aref gy faurfora gidt 82
1. 1:4

2.2:1



3.1:2

4. 4:1

Correct Answer :-
o 2:1

39) Construction of altars for the sacrifice, applying geometrical facts to perform duties by fixing east-
west was assigned to the ./

afere™ & fore afeat &1 fAator s, gd- ufi ) RR $3d gu ol ot @1 w34 & fore sarfinda
T} B AR B BT B, DI FIT TT T

1. Sulbhakars / Jedh
2. Aryabhatta / \’rﬂﬁ'l-@

3. Bhaskara / HIRhX
4. Brahmagupta / STel{[tWd

Correct Answer :-

+ Sulbhakars / gedlh

40) Three cubes each of edge 4 cm are joined end to end horizontally, then the lateral surface area of the
resulting cuboid is: /

4 I fHRY arat 9 w=1 o1 sifow g @faet 0 @ 93 gu 8, af uRomdt gy &1 uref gl erwa @:
1. 120 cm?/ 120 Q12

2. 150 cm? / 150 S¥2

3. 128 cm?/ 128 T2

4. 95 cm? /95 Y2

Correct Answer :-

e 128 cm?/ 128 Q2

41) Which of the following is an example of a cubic polynomial? /
fFrafafad & ¥ #1991 99 9gUe 1 UH eI 8?

1. x°+x3



2. X%+x
3. x3+x
4, x4 4x3

Correct Answer :-

42) describes steps or a set of do’s and don’ts to a method or strategy. /

T fafy a1 Torifa & aRon a1 Jei & == Ta A8 B BT quiF HRa1 B
1. Technique / AP

2. Tactics / gfad

3. Method / fafg

4. Approach / 3UNTH

Correct Answer :-

« Technique / dP-Ih

43) The respective positions of three friends A, B and C are (3, 2), (6, 5) and (9, 8) respectively. What
does the three points joined together make? /

T St A, B TF C F Tafta I HHI: (3, 2), (6, 5) 3R (9, 8) &1 N1 farg v 1y forare aam a7t 32
1. An obtuse angled triangle / T 31RO Ay

2. A line segment / T W1 TS

3. An equilateral triangle / T JHTg Y

4. A right angled triangle / Teb JH&IU YW

Correct Answer :-

« Aline segment / & AT S

44) One among the below does not belong to creative behaviours and that action verb is .
1 # & T3 YaeTe AaeR @ e 81 v@dl § iR a8 e faa g

1. reconstruct / Q:TﬁTﬁUT

2. design / i

3. compare / -l



4, alter / gfada

Correct Answer :-

» compare / Il

45) The radius of a circle whose circumference is equal to the sum of the circumference of the two
circles of diameters 36 cm and 20 cm is ./

trguai e B, et ultfir 36 it aur 20 Sft o a3 g9 S RS @ S Rew R
1. 56
2. 24
3. 28

4. 14

Correct Answer :-

46) The major aim of mathematics education is: /

TIfora fR1em &1 U SERA B
1. Preparing for competitive exams /WW&‘”@[%WWW
2. Mathematisation of the child's thought process / e 1 [dIR UfdhdT &1 0Tl

3. Solving problems / U%ﬁﬁw

4. Improving computational skills / STOTATH® GANIY f[ﬁ‘éﬂ?m

Correct Answer :-

« Mathematisation of the child's thought process /ﬁﬁwmmﬂﬁﬁﬂw

47) ‘Micro teaching is a scaled down teaching encounter in class size and class time’
was stated by: /

HTSsh) FRAIEIUT, H&T P ATPR 3N &1 P THY § Riaror wod F a1 @, 39
S ERISEITAIl

1. Piaget /ﬁI'CI'I@[



2. DW. Allen / S1. 8o, T
3. Gagne /ﬁ%{

4. Bruner / -}

Correct Answer :-

. D.W. Allen /33[3@ Qa:[

48) Which of the following is considered as the most suitable approach in mathematics curriculum
organization? /

fFrafiafaa & & f5a it ureush oraw & Ja Suged TR ® 01 W7 o 32
1. Psychological /W
2. Topical RIEIRED

3. Unitary / UhTHD
4. Spiral / gftq

Correct Answer :-

e Spiral / gfta

49) Which of the following is related with Cognitive Domain? /
frafafea & @ 1 Sarrs 87 4 Wdfia g2

1. Valuing / Hgd il

2. Applying / eI AT

3. Receiving / g U [

4. Responding / gfaferar &

Correct Answer :-

» Applying / AT AT

50) Which of the following aim of teaching mathematics help the individual to become self-
reliant and independent? /

o ve™ & fAufafaa Stxal # @ 19 91 Sexy, afe &) smafR ok wWag a7 |
GG HRaT 8?2



1. Disciplinary / IR AIHD
2. Utilitarian / ST

3. Cultural / W
4. Social / TTHIIISG

Correct Answer :-

« Disciplinary / 3{JRUMHAIHD

51) Item analysis is a quality assessment strategy to prepare ./
we fazayor TR 1 & FIT T Uit geaie- o 2

1. Question bank / U4 CCg

2. Evaluation / Jedih
3. Examination / L ritall

4, Student performance / EIERC AT

Correct Answer :-

« Question bank / UY §&

52) CANCELLED

If the radius and height of a cylinder are in the ratio 5:7 and its volume is 550 cubic m, then its
radius is ./

u%wﬁa;aﬁﬁmaw”mﬁwmsn%‘awmm550‘a=r1ﬂa%,a‘rsﬂﬁﬁm
|

1. 6cm/6TH
2. 7cm/7 9w
3. S5cm/5 99

4, 4.5 cm /4.5 9w

Correct Answer :-

53) CANCELLED



Three-dimensional topology is a branch in mathematics which is more related with

v

%ﬁq&mmﬁr(aﬁﬁvﬁ)ﬂfbﬁﬁww%a‘r 3 3iftrep defea
|

1. Biotechnology /ﬁﬁtﬁ?ﬁﬁaﬁ
2. Economics / Rl

3. Chemistry / 3T fagmA

4. Physics / Hifae fasim

Correct Answer :-

« Physics / ifaw fagme

54) CANCELLED

The equation of line passing through (2,3) and parallel to x-axisis ./
SAIDT BB B, S (2,3) | BIPR oIl & 9T x-318 & U 8
1 X= 2

5 X =2

3.V =3

4 7="3

55) CANCELLED

If the sum and product of whose zeroes are 2 and —E . then the quadratic polvnomial is B

afe AT 3R 38F YeIHT T IO EUE;—E%:HT@WHE@E 21

1 SxZ —10x — 3
2. SxZ+10x +3

3. SxZ+10x —3



4.x2—1[]x+3

Correct Answer :-

ox?—10x —3

56) CANCELLED

The angle which is 24° less than its complement is: /

dg FIOT ST 39 GARE A 24° FF ¢

57) CANCELLED

Area of a quadrilateral ABCD is 35 CIM" The length of the perpendiculars on its diagonal BD from A
and D are 3 cm and 4 cm respectively. Find the length BD. /

TgYs ABCD &7 &% 35 A2 g1 A 3R D A 39S fawvf BD W &9 Ft dars wu=n: 3 At ek 4
I+ 81 BD &) waTS F1d B

1. 10 cm/ 10 9+t
2.15cm/ 159+t
3.25 cm /25 94t

4.12 cm/ 12 9#t

Correct Answer :-

e 10cm/ 10 I

58) Express 486 as a product of powers of prime factors. /



486 P JUTSY U] & °Td & UHGA & & § Tad He |
1.3°

2.12x 53

3.21x 3°

4.53 %2

Correct Answer :-

o« 21 x 33

59) Jeevan fills a wall in his room with the photos he took. The size of a photo is 21 cm by 18 cm. If
he uses 6 photos, then what is the area of the wall? /

S 9 U1 R $I TH AR & W4 gRT S T3 TR 9 WR 311 T a5 iR &7 SR 21 I+ x
18 9 21 afe a8 6 IR &1 IUANT H=aT 8, At AR &1 &TFd frar 82

1. 2068 sq cm /2068 it
2.2268 sq cm /2268 it
3.378 sq cm /378 T et

4. 2334 sq cm / 2334 T

Correct Answer :-

. 2268 sq cm /2268 TIAH

60) y¢x’ —3x+ 24¢ 4 factor ofx‘}_m:2 9 then find the value of ” and 7' /
afe TP H A grges *0 — 34+ 2 G P ok T 1w e R

1.p=51q =4

2.p=4,q =3

3.p=2,q =1

4.p=3Jq=2

Correct Answer :-



